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’E MTLoB|Eo5T|TTurA| 94T | 13E—% | HFC | EAWL | %gFC ﬁ% ‘§§ =
4 KTy & 1 — 6|3 — 1|2 — 23 —1]0 — 2 — 11 — 610 7 12(19] -7
7 bl =3 6 — 1 2 — 2|0 — 111 — 70 — 4 — 1|11 — 1817 14128 -14
5 TILAYA 1T — 3|2 — 2 0 — 11 — 1]5 — 6 — 3[0o — off 9|7 15112] 3
2 FCO142T 2 — 211 — 0|1 — 0 2 — 3|3 — 2 — 3|4 — 1[13] 7 25| 10| 15
1 [FTA—% 1T — 3|17 — 1|1 — 13 — 2 2 — 4 — 21 — off16| 7 19110] 9
3 HFC 2 — 0|56 — 02 — 51 — 3[1 — 2 5 — 12 — off12| 7 18|11 7
8 JEEWL 1T — 2|1 — 4|3 — 6|3 — 2|2 — 4|1 — 1T — 2138]|7 12|25] -13
6 EHRFC 6 — 1|1 — 1]0 — 0|1 — 40 — 1|0 — 2 — 1 8|7 10]10] 0
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